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Explanatory note
The aim of this note is to provide additional insights on the drivers of the impact of the stress test and should address the ‘story behind the figures’ that have been submitted by the group. It should also cover the use of simplifications and approximations for the calculation of the post stress figures, especially for the post stress SCR calculation.
I. Process
1. Please indicate where you deviated from the regular process used during the annual Solvency II reporting.

· Entities in scope

· Consolidation of the data
Please insert your answer here:
2. Please indicate where you deviated from the regular process used for the group solvency calculation during the annual solvency II reporting.

i. Please indicate whether you excluded specific SCR submodules or risk factors as a simplification, and provide an indication about the materiality of this simplification. 
Please insert your answer here:

ii. Please indicate whether you excluded subsidiaries or other related entities as a simplification, and provide an indication about the materiality of this simplification. 
Please insert your answer here:
iii. Please indicate whether you applied a simplification for the Risk Margin. 
Please insert your answer here:
iv. Please indicate other elements where you deviated from the regular process used for the group solvency calculation (especially the post stress SCR calculation) and provide an indication about the materiality of deviations.
Please insert your answer here:

3. If you intend to apply a group consolidated-based approach, e.g. a method which approximates the impact of the stress on asset over liabilities and SCR on the group as a whole, without aggregating SCR or technical provisions on a solo basis, please attach the technical documentation for this approximation and answer the following questions.

i. Please describe and discuss where the approximation is applied in practice (for example Sensitivity- or Stress-Test-Analysis in the ORSA). 
Please insert your answer here:

ii. Please describe and discuss the steps undertaken in order to assess the quality of the approximation. Please describe how you measure the quality of the approximation as well as the results of the last quality check. 
Please insert your answer here:
iii. Please describe and discuss whether you amended the approximation for the stress test and why. Please assess the errors which could occur in the stressed environment. 
Please insert your answer here:
4. Please indicate other elements where you deviated from the regular process used for the group solvency calculation process (especially the post stress SCR calculation) and provide an indication about the materiality of deviations. Please give a short description of the internal validation process used during this stress test. In what respect does this process deviate from the validation process used for the regular Solvency II reporting?

Please insert your answer here:

5. Please describe the management attention that is given to the results of the stress test. At which committees have (will) these results been discussed?
Please insert your answer here:

II. Yield curve up

1. What is your overall assessment of the impact of this scenario on the solvency position of the group? Which new insights or attention points did the results of this scenario provide? Will there be a follow-up on any item or issue as a result of this exercise?
Please insert your answer here:

A. Impact on excess of assets over liabilities

2. Please identify and discuss the underlying drivers behind the change in excess of assets over liabilities.
Please insert your answer here:

3. Please identify and discuss the underlying drivers behind the change in total assets.

· Please identify and discuss the underlying drivers behind the most important changes on the asset side of the balance sheet.
· Please identify and discuss the underlying drivers behind the change in deferred tax assets as well as the valuation of the deferred tax assets after stress.

Please insert your answer here:

4. Please identify and discuss the underlying drivers behind the change in total liabilities.

· Please identify and discuss the underlying drivers behind the most important changes on the liability side of the balance sheet.
· Please identify and discuss the underlying drivers behind the change in deferred tax liabilities as well as the valuation of the deferred tax liabilities after stress.
Please insert your answer here:
· Please identify and discuss the impact of the use of LTG and Transitional measures on the technical provisions.
Please insert your answer here:
B. Impact on total eligible own funds to meet the group SCR

5. Please identify and discuss the underlying drivers behind material changes in own funds coming from other financial sectors and/or undertakings included via D&A.

Please insert your answer here:

6. Please identify and discuss the underlying drivers behind material changes in eligible own funds to meet the consolidated group SCR. 
· Please discuss the impact on the availability at group level of solo eligible own funds.

Please insert your answer here:

7. Please identify and discuss the underlying drivers behind the most important changes in own fund items part of total basic own funds after deductions and ancillary own funds.

Please insert your answer here:

8. Please identify and discuss the underlying drivers behind material changes in the tiering of the total eligible own funds to meet the group SCR.

Please insert your answer here:

C. Impact of group SCR
9. Please identify and discuss the underlying drivers behind material changes in the group SCR coming from entities included with the D&A method.
Please insert your answer here:

10. Please identify and discuss the underlying drivers behind material changes in the group SCR coming from the consolidated group SCR.

· Please discuss the impact of the diversification effect following the consolidation.
Please insert your answer here:
· Please discuss material changes in the consolidated group SCR coming from other financial sectors, non-controlled participations or residual undertakings.

Please insert your answer here:
11. Please identify and discuss the underlying drivers behind material changes in the Basic SCR or the total undiversified components.

· Please identify and discuss the underlying drivers behind the most important changes in the SCR modules or components.
Please insert your answer here:
12. Please identify and discuss the underlying drivers behind the changes in the LAC TP and LAC DT
Please insert your answer here:

13. Please describe the methodology used for the calculation of the LAC DT after stress. In what respect does this methodology deviate from the methodology used for the regular Solvency II reporting?
Please insert your answer here:

14. Please describe and justify the key assumptions used for the calculation of the LAC DT after stress. In particular, if the amount of the LAC DT is bigger than the amount of the DTL before shock, explain how the amount of LAC DT exceeding the DTL pre-shock is justified by probable future profits.

Please address the following issues (as a minimum)
· Role of compliance with the SCR after shock loss

· How have the assumptions used for your projections of future profits been adapted to reflect the increased uncertainty and the extent of compliance with the capital requirements after the shock loss?

· Future profits stemming from new business
· What time horizon did you use in relation with the number of years’ worth of new business after the shock loss that is recognised by the projection?

· How did you adapt the projections of the business plan to take into account the new financial conditions?

· What time horizon did you use in relation with the projection horizon within which profits for that given new business will, fiscally, emerge?

· How did you link economic profits with fiscal profits?

· Future profits from returns on assets
· How did you adapt the post-shock assumptions on returns on assets?

· Future Management Actions
· How did you adapt the future management actions?
Please insert your answer here:

15. Please identify and discuss the impact of the use of LTG and Transitional measures on the group SCR.
Please insert your answer here:

III. Yield curve down
1. What is your overall assessment of the impact of this scenario on the solvency position of the group? Which new insights or attention points did the results of this scenario provide? Will there be a follow-up on any item or issue as a result of this exercise?
Please insert your answer here:

A. Impact on excess of assets over liabilities

2. Please identify and discuss the underlying drivers behind the change in excess of assets over liabilities.
Please insert your answer here:

3. Please identify and discuss the underlying drivers behind the change in total assets.

· Please identify and discuss the underlying drivers behind the most important changes on the asset side of the balance sheet.
· Please identify and discuss the underlying drivers behind the change in deferred tax assets as well as the valuation of the deferred tax assets after stress.
Please insert your answer here:

4. Please identify and discuss the underlying drivers behind the change in total liabilities.

· Please identify and discuss the underlying drivers behind the most important changes on the liability side of the balance sheet.
· Please identify and discuss the underlying drivers behind the change in deferred tax liabilities as well as the valuation of the deferred tax liabilities after stress.
Please insert your answer here:

· Please identify and discuss the impact of the use of LTG and Transitional measures on the technical provisions.
Please insert your answer here:
B. Impact on total eligible own funds to meet the group SCR

5. Please identify and discuss the underlying drivers behind material changes in own funds coming from other financial sectors and/or undertakings included via D&A.

Please insert your answer here:

6. Please identify and discuss the underlying drivers behind material changes in eligible own funds to meet the consolidated group SCR. 
· Please discuss the impact on the availability at group level of solo eligible own funds.

Please insert your answer here:

7. Please identify and discuss the underlying drivers behind the most important changes in own fund items part of total basic own funds after deductions and ancillary own funds.

Please insert your answer here:

8. Please identify and discuss the underlying drivers behind material changes in the tiering of the total eligible own funds to meet the group SCR.

Please insert your answer here:

C. Impact of group SCR
9. Please identify and discuss the underlying drivers behind material changes in the group SCR coming from entities included with the D&A method.
Please insert your answer here:

10. Please identify and discuss the underlying drivers behind material changes in the group SCR coming from the consolidated group SCR.

· Please discuss the impact of the diversification effect following the consolidation.
Please insert your answer here:
· Please discuss material changes in the consolidated group SCR coming from other financial sectors, non-controlled participations or residual undertakings.

Please insert your answer here:
11. Please identify and discuss the underlying drivers behind material changes in the Basic SCR or the total undiversified components.

· Please identify and discuss the underlying drivers behind the most important changes in the SCR modules or components.
Please insert your answer here:
12. Please identify and discuss the underlying drivers behind the changes in the LAC TP and LAC DT
Please insert your answer here:

13. Please describe the methodology used for the calculation of the LAC DT after stress. In what respect does this methodology deviates from the methodology used for the regular Solvency II reporting?
Please insert your answer here:

14. Please describe and justify the key assumptions used for the calculation of the LAC DT after stress. In particular, if the amount of the LAC DT is bigger than the amount of the DTL before shock, explain how the amount of LAC DT exceeding the DTL pre-shock is justified by probable future profits.

Please address the following issues (as a minimum)
· Role of compliance with the SCR after shock loss

· How have the assumptions used for your projections of future profits been adapted to reflect the increased uncertainty and the extent of compliance with the capital requirements after the shock loss?

· Future profits stemming from new business
· What time horizon did you use in relation with the number of years’ worth of new business after the shock loss that is recognised by the projection?

· How did you adapt the projections of the business plan to take into account the new financial conditions?

· What time horizon did you use in relation with the projection horizon within which profits for that given new business will, fiscally, emerge?

· How did you link economic profits with fiscal profits?

· Future profits from returns on assets
· How did you adapt the post-shock assumptions on returns on assets?

· Future Management Actions
· How did you adapt the future management actions?
Please insert your answer here:

15. Please identify and discuss the impact of the use of LTG and Transitional measures on the group SCR.
Please insert your answer here:

IV. Nat Cat
A. Relevance and impact of the scenario
In order to assess the relevance of the NatCat stress scenarios for your undertaking’s risk profile (e.g. due to the restricted geographical scope of the NatCat scenarios to (parts of) Europe), please answer the following questions: 

1. How well do the prescribed scenarios match your most material NatCat exposures?
Please insert your answer here:

2. Please assess the extent your exposure is covered by the NatCat stress-scenarios (high / medium / low) and explain your assessment (e.g. your chosen metric). Please refer to the top NatCat perils and material lines of business you are exposed to
Please insert your assessment here:

B. Modelling assumptions
3. How did you adjust for uncaptured exposures or data limitations?
i. 
Windstorms
Please insert your answer here:

ii. 
Floods
Please insert your answer here:

iii. 
Earthquakes
Please insert your answer here:

4. How did you adjust for secondary perils e.g. storm surge for windstorm, additional living expenses for flood or fire following for earthquake?
i. 
Windstorms
Please insert your answer here:

ii. 
Floods
Please insert your answer here:

iv. 
Earthquakes
Please insert your answer here:

5. How did you adjust for unmodelled coverages e.g. contingent business interruption?
i. 
Windstorms
Please insert your answer here:

ii. 
Floods
Please insert your answer here:

v. 
Earthquakes
Please insert your answer here:

6. Are there exposures arising from any unmodelled lines of business and, if so, how did you adjust for these?
i. 
Windstorms
Please insert your answer here:

ii. 
Floods
Please insert your answer here:

vi. 
Earthquakes
Please insert your answer here:

7. Please explain how you have arrived at your estimate of post loss amplification?

i. 
Windstorms
Please insert your answer here:

ii. 
Floods
Please insert your answer here:

iii. 
Earthquakes
Please insert your answer here:

8. Please disclose and detail other key assumptions made or methodological approaches?
i. 
Windstorms
Please insert your answer here:

ii. 
Floods
Please insert your answer here:

iii. 
Earthquakes
Please insert your answer here:

9. What do you consider to be the main limitations of the approach used to quantify the gross or net losses?
i. 
Windstorms
Please insert your answer here:

ii. 
Floods
Please insert your answer here:

iii. 
Earthquakes
Please insert your answer here:
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